

Informazione Regolamentata n. 20233-35-2024		a/Ora Inizio Diffusione Giugno 2024 17:40:44	Euronext Growth Milan
Societa'	:	RACING FORCE	
Identificativo Informazior Regolamentata	ie :	192018	
Utenza - Referente	:	RACINGFORCENSS01 ROBERTO	- FERROGGIARO
Tipologia	:	2.4	
Data/Ora Ricezione	:	10 Giugno 2024 17:40:4	4
Data/Ora Inizio Diffusion	e :	10 Giugno 2024 17:40:4	4
Oggetto	:	Periodic disclosure on th	ne buyback program
Testo del comunicato			

Vedi allegato



PRESS RELEASE

Periodic disclosure on the buyback program

Ronco Scrivia (GE, Italy), June 10th, 2024 - **Racing Force S.p.A**. (the "**Company**" or "**RFG**"), the parent company of Racing Force Group, which is specialized in the development, production, and marketing of safety components for motorsports worldwide, listed on the Euronext Growth segment in Milan (RFG) and Paris (ALRFG), with regards to the treasury buy-back program authorized by the Shareholders' Meeting of April 29th, 2024, announces that between June 3rd and June 7th, 2024, it acquired on the Euronext Growth Milan segment no. 2,945 RFG shares, equal to 0.0115% of the share capital, at an average price of Euro 3.81 per share for a total of Euro 11,227.63.

The purchases were made through the intermediary Equita SIM S.p.A., LEI code 815600E3E9BFBC8FAA85.

Details of the daily purchase transactions on the market are reported below.

Date	No. of shares acquired	Average Price (€)	Value (€)
06/03/2024	1,681	3.81	6,404.61
06/04/2024	1,222	3.82	4,663.00
06/05/2024	42	3.81	160.02

In accordance with Article 2, paragraph 3 of the Delegated Regulation (EU) 2016/1052, attached the detailed list of purchases made on ordinary shares RFG (ISIN code IT0005466963) in the aforementioned period, based on the information provided by the intermediary in charge of the execution of the buyback program.

Following the above stated purchases, RFG currently holds 5,998 treasury shares, equal to 0.0233% of the share capital.



Racing Force Group

Racing Force is the leading motorsports safety products group with the most advanced and comprehensive range of protection and performance products used worldwide by top professionals, amateur drivers, race teams and car manufacturers under the brands OMP, Bell Racing Hemets, Zeronoise and Racing Spirit. The group is based on three different continents, with the main headquarters in Ronco Scrivia (Italy), Sakhir (Bahrain), Miami and Mooresville (USA). Product under the Group's brands can be found in all main international championships of car and kart racing. More information about Racing Force Group is available at www.racingforce.com, as well as on www.ompracing.com, www.bellracing.com and www.racingspirit.com.

CONTACTS FOR RACING FORCE

Barabino & Partners

Stefania Bassi E-mail: s.bassi@barabino.it mob: +39 335 6282667

Giuseppe Fresa E-mail: g.fresa@barabino.it mob: +39 348 5703197



Investor Relations Roberto Ferroggiaro E-mail: ir@racingforce.com

<u>Media</u> Luigi Rossi, Jacopo Rubino E-mail: media@racingforce.com

ITALY (Ronco Scrivia, Pisa) - USA (Doral, Indianapolis, Orange, Mooresville) - Bahrain (Sakhir) - Belgium (Tubize) racingforce.com - ompracing.com - bellracing.com - racingspirit.com





BRANDS OF RACING FORCE GROUP

ITALY (Ronco Scrivia, Pisa) - USA (Doral, Indianapolis, Orange, Mooresville) - Bahrain (Sakhir) - Belgium (Tubize) racingforce.com - ompracing.com - bellracing.com - racingspirit.com





BRANDS OF RACING FORCE GROUP



ANNEX

Date	Time	No. of shares acquired	Average Price (€)	Value (€)
06/03/2024	09:29:23	187	3.81	712.47
06/03/2024	09:30:32	64	3.81	243.84
06/03/2024	11:53:08	430	3.81	1,638.30
06/03/2024	12:22:04	1,000	3.81	3,810.00
06/04/2024	10:05:50	565	3.83	2,163.95
06/04/2024	10:46:36	22	3.83	84.26
06/04/2024	11:47:27	22	3.83	84.26
06/04/2024	13:32:16	113	3.81	430.53
06/04/2024	17:29:03	500	3.80	1,900.00
06/05/2024	17:12:58	42	3.81	160.02



Racing Force Group

Racing Force is the leading motorsports safety products group with the most advanced and comprehensive range of protection and performance products used worldwide by top professionals, amateur drivers, race teams and car manufacturers under the brands OMP, Bell Racing Helmets, Zeronoise and Racing Spirit. The group is based on three different continents, with the main headquarters in Ronco Scrivia (Italy), Sakhir (Bahrain), Miami and Mooresville (USA). Product under the Group's brands can be found in all main international championships of car and kart racing. More information about Racing Force Group is available at <u>www.racingforce.com</u>, as well as on <u>www.ompracing.com</u>, <u>www.bellracing.com</u> and <u>www.racingspirit.com</u>.

CONTACTS FOR RACING FORCE

Barabino & Partners

Stefania Bassi E-mail: s.bassi@barabino.it mob: +39 335 6282667

Giuseppe Fresa E-mail: g.fresa@barabino.it mob: +39 348 5703197



Investor Relations Roberto Ferroggiaro E-mail: ir@racingforce.com

<u>Media</u> Luigi Rossi, Jacopo Rubino E-mail: media@racingforce.com CERTIFIED

ITALY (Ronco Scrivia, Pisa) - USA (Doral, Indianapolis, Orange, Mooresville) - Bahrain (Sakhir) - Belgium (Tubize) racingforce.com - ompracing.com - bellracing.com - racingspirit.com





BRANDS OF RACING FORCE GROUP

ITALY (Ronco Scrivia, Pisa) - USA (Doral, Indianapolis, Orange, Mooresville) - Bahrain (Sakhir) - Belgium (Tubize) racingforce.com - ompracing.com - bellracing.com - racingspirit.com





BRANDS OF RACING FORCE GROUP

Fine Comunicato n.20233-35-2024
